aAale a n® & ¥

(T P& o5 ILF B 5 F - & B 5 FALF D8 -
56 _ o 4 o,
D56 = 56 )% @ o= 40 )%
@ 7% = (0.07) ®5.5% = (0.055) ®90% = (0.9 )
(2)tbEbsf @ Lo [ [R>S ~ <H= -
@O 8500 oA~ |75 FH 2 E @4.64 2= | 4640 27
.y @ 72000m? ¢y Hhu[ < |72 ALY @7.8 2 E[>]|780 &R
@@:}af&i;ﬁiu%ﬁ?ﬁ.éaﬁf% .
CI)3E 30 B Hr 32 35 = A 55 B 32 1 (2)—sAF T dvd) 150 &7 ey
40.3 Ry HOR o SRR W —REEIE | .2 ey
ERE R L A A EEP/NEE S S

+tAsH 3R | .2 2= | 200 2>/
40.3:31=1.3 I200+ 150=28

@gg=1( 32 )%

(3)H — e dmffF 0.04 FFHF o> FE é(&)#%ﬁfﬁ'ﬁﬁ#ﬁéﬁ-&% 1.8 2>
R F AL LM - K& 800 B~ T2 | R - 45 ¥ Gadx
R HEE VAR gy oA Fe B b avwk — AR R ?
Q.04 FF > ¥ | .82 | x45 =8|
= 40000 F 7 &> R 8l FH AR =0.8| ok
40000 + 800 = 50

150 R = 81 2rax

10,
e EAFoFL~FI0FL |3

s

@@ Fe A8 ) K o) of Bk e ke

0.6 0.12 0.82 3.25
3 41 1 3
' 25 50 3 5
N ra

@@)ﬁzﬂagﬁmﬁzﬁ - BHEAE -

(DF YT IR - 55 1.6 227 (2)4E T2 )7 y st - EXEHE
B — % DIPEART 25 B - T3 - HIET 126 T
SRR RA Y AT 2 G FaFEa A E T

y+1.6=25 yX3=126
y=1.6x25 © y=126+3
=40 : =42

(B)— M EEx L IR E — (L) — R AR 421 A5
ITHAT 144 L —RRBEE  AEHETMEy LSS B
L2 (—4T2 12 4k) F 217 24 M EXMEMRT
xX 2= 144 % Rahumin ?
x= 144 3+ |2 L2 | —yv=21"7
=12 y=421 —217

=204

112 L1204 A
114 @SS AFoETL~F|I0ET

L



